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Calcula

ultinlica un decimal

* Calcula el niUmero que falta:

24°342x100 =

426°2 x =426.200

3'9x1.000=

27394 x =273'94
x10=003

64°29 x =642°9
x100=27,4

61'7x100 =

54°05 x =540'5

0,97 x1.000=

64,97 x =649°7
x10=386,7

32,74 x =3.274

x1.000=74.880

x10=67"15

por 10, 100, 1.000.
0'87x10 =
6'946 x = 694°6
0°038x100 =
1427 x100 =

x1.000=35.500

1’887 x 100 =

x1.000=3.510

9°002x1.000=

75 x =750

70,3x100 =

0,082 x100-=

x1.000 =420

52°6 x100 =

x100=38'5

x100=407"6
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*  Multiplicay completa las tablas:

10

100

1.000

5,28

22,4

3,753

7,24

4,30

8,9

135

15,203

4,548

0,39

X

10

100

1.000

17.8

9,32

4'853

0’5

0°084

1977751

2,4

0°68

75710

5°46
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